CXuw Sudy Guides 202

Grade 7: Post-Course Test (1-48)

L Evaluate the expreasion.
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% Simpify the expression. Write your answer as a power.
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Simpiify tho expression. Writo your answer as a power.
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Simplify the expression. Write your answer as a power.
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6. Write an equation for the proportional relationship shown in the table.
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27 Find the constant of proportionality k in the equation y = 28x .
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ofé ascale of 1 cm : 6 . Find the actual

8. A scalo drawing of a square has a
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B A4 P, the total snowfallIs 2 centimeters. At 7 PM., the total snowfallis 12 centimeters. What is the mean hourly
snowfall? Writa your answer In simplest form as a fraction or mixed number.
‘The mean snowfall s [_] centimeters per hour. ﬂ.
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9 Write the fraction as a decimal.
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10. Find the product. Write your answer as a fraction or a mixed number In simplest form.
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1L Find the quotient. Write your answer as a decimal.
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2. Write the percent as a decimal.

0. Write the decimal as a percent.
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YYou estimate that there are 64 marbles in a jar. The actual amount is 46 marbles. Find the percent error. Round to the
nearest tenth of a percent if necessary.
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Find the selling price of a $10 item after a 50% markup.

The selling price Is S} @
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- Thers are 9 yellow marbles and 10 siver marbles in a bag. You randomily choose ono of the marbles. What s the

probabilty of choosing 8 yeliow marble? Wite your answer as a fraction in simplest form.
‘The probabilty of choosing a yellow marble is q
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‘number compare with the theoretical
Rolling a Number Cube
Numberroled 1 2 3 4 5 6
Times rolled 41 40 40 44 49 38
>
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You 32 120 randomly chosen Hies
Mﬂbbmm
the umberof £2vorita ice croam flavor.
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Favorite lco Croam Flayor :
Vanila 29
Chocolate as ’
%
Strawberry 2z - A
Chocotats Chip
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an asteroid, You already have 45 points. Graph your possible final scores for the game.
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Which statement describes your possible final score?
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O Your final score is less than 45 points.
@Yowﬁm!mvhmlenltspmu.
O Your final scoro s at most 45 points.

O Your final scora is greater than 45 points.
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2L Graph the soluionof x— 5> 4 .

o_-
]
o

o

R BT o
K A0 8 e
i

© 00 00 00 00 o 65 <o o

e ——

1324, 844 AM

Activity Proview
41 The tables show random samples of the ages of viewers of two different movies.

Movie A Movie B
3‘252829’2‘; 44 45 42 43 45
2 2% 2 % » @ w5 44w
rTEEE 40 39 40 41 47
R © a8 a
30 28 30 29 30 43 44 44 43 45
32 30 28 27 28 42 4245 48 3B

Which data set has a greater center?

O Movie A
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O The centers are the same.

n general, which movie has younger viewers?
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Which data sot has greater variaion? 9 Moves
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O MovieB

O Cannot be determined
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- A farmer cisplays how the mik production of cows varies from least fo most, Which display is the most appropriata to 2 Graph the soluton of 3x > 21.
reprozent the data?
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3 You deposit $100 in a savings account, The account eams 5% simplo inferest per year. » B e ieled P ’\,‘b
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19. You install 580 feet of the perimeter of yard. The width of the yard is 144 feet. What Is the
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15. Each person in a group buys a
a Th protabityof n evant s L. Descrbe tho kefiood of the ovent movio ticket, a drink, and a popcom.
How much does the group pay
o when thare are 4 peoplo in the
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5. Find tha sum. Write your answer in simplest form. 42 Find the area of the paralielogram. A 5 \D\r‘
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3. The circle graph shows the number of units of pet food sold at a pet store in one week.
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6 Find the difference. Write your answer as a decimal.
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. The circle graph represents $5,000 in sales. How much was collacted for fish food?
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The total change in th water leval for the three-month period is
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n. An online rotailer allows customers to rate tems on a scale from ~5 to 5, An item rocoives the scores bolaw, /] < 2%\
0,-1.25,-0.75,4.5, -0.25, ~4.25, 1.5

Find the mean scoro. Write your anewer as a decimal,
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: 4S. Find the area of the circle. Give the exact answer as well as an approximate answer rounded to two decimal places. 9 L Z ﬂ (V\‘_’ Z_T-{ V,
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4. Find the and the area of the figure. Round answers to the nearest hundredth if necessary,
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25 The graph shows the denslty of a substanco, Find mrm:';\"nogum per liter,
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The density of the substance is [ llogram(s) per liter.
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